233
(7) AASoxogPToRiLr
Z = asszL———t
U BAS oK = hE) dsing = o( nHRERE B &
B&rf‘g\ Bt & A3, BLPY = (2 0(—— [s71 T & ).SRhE
LQc
Zio A= SR A AT
- osinam S0t — doL
Zy = Sin27T A ,€C>

= 2= XS 2R (-%—t-— %) )

— 2 1325
‘\>\<‘ 7T R ﬂ/ﬁsz’j,?'é /(i*a /f_( R%D = > —— 087 Z#{&)?

The 30 (= $B o A S z“#’«m\\s

(£) = R+ 2o §Y
2= Asin2t ——t + asin2z( At"Ax)

-~z Srr[/L(X—fsiy\ﬂ = 2sin Dﬁ;ﬂ 272 2 Hut
M 93. (X=2m5C | fomm(Et- M) )

&(Slm D(—i—SMﬁ)

z:
_ F Xt e X- 4
= A (2 sm Cos ———)
dy dYy
. Lf-;(-i't——zx-——~ 27
= 0\(25m A 2X Cos AL )
L 2

I

d g ! C ol Y
200 CoS 2m —— frnlm(—it_ 1,’\})
\

Y) FEAER t 2Kl Loc (1“’“)?—‘3055L {7‘7(‘(207{1 )},L(W



